=
N & o & AF &2 H Ml A
20108 S =ZOlar F=XE SHaH M
SN DEHHD
M JADE 2554
SR ENY HE(ENY SEIA) (9l &2
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o gl%gcg B2
DEHF 4,975,652 5,701,725 A726,073
ALt 476,000
2| 4,499,652
HADE S5 E4 3,604,052 4,473,042 AT78,990
ALt 476,000
2| 3,218,052
ERNE HE(ENE SEIN) 2,084,000 2,402,820 A318,820
AlbI 476,000
2| 1,608,000
ZolE AR BEFHE AA 456,000 0 456,000
Albl 319,000
2| 137,000
401 Al&HIL 20| 456,000 0 456,000
ALt 319,000
2| 137,000
01 Al&H] 451,000 0 451,000
OLelE 472 ZEXENE A4
451,000,0002 451,000
AlbI 315,500
2l 135,500
03 Al&CH| 5,000 0 5,000
OgelE 472 ZEEXF A4 5,000,008 5,000
ALt 3,500
2| 1,500
DRIEAY 228,000 72,000 156,000
ALt 157,000
2| 71,000
203 HRFAY| 3,000 0 3,000
03 AlZZ=TQ R =AY 3,000 0 3,000
OJRER ALY 3,000,0002 3,000
301 YsrPAS 60,000 72,000 A12,000
AlBI 42,000
2| 18,000
12 JIEHE A3 60,000 72,000 A12,000
OO Z=RAR (HEIFT)  3,000,0008 5200t 7 60,000
AlBI 42,000
2| 18,000
401 AU 20| 165,000 0 165,000
ALt 115,000
2| 50,000
01 Al&H] 165,000 0 165,000
OIREIAL (B2E) 165,000,000 165,000
AlbI 115,000
2| 50,000
SIEE AR2 BEEMT M 1,400,000 0 1,400,000




SN DEBHD
HH: HEADE 25%4
Sl ENE HE(ENE SLIA) (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
401 AIEHIL2CH] 1,400,000 0 1,400,000
01 Al 1,390,000 0 1,390,000
OBIERS AR SEXEXY AL
1,390,000,0002! 1,390,000
03 Al&=THYl 10,000 0 10,000
OBIERS AR SEXEXY AL
10,000, 000! 10,000
EXY 2Y(FIT SLIMH) 609,916 496, 192 113,724
AERT 22 238, 125 126,450 111,675
201 L2y 36,750 39,450 A2,700
01 ALR eIt 36,750 39,450 A2,700
OS2 TYEXE sZa 2o 5,000
S8 7Y 3,000,000 3,000
RS 2,000,000 2,000
OS8R =XF WY 222 N
70,0002 x4074 1 23] 5,600
OBYFUY LIWI+4E
1,500,00024%119H £ 16,500
OZYFEXE YEASR 150,002 +119H 24 1,650
OZYFXE GYEX B 8,000,000 8,000
308 XX EHHISOI & 29,375 23,000 6,375
08 JlEFRE3 29,375 23,000 6,375
O - FYULAESX BTYFAE 2 s
46,000, 0002 *50% 23,000
OLH2S BYFUY 248
12,750, 00024 *50% 6,375
401 AIZHIL 2O 172,000 64,000 108,000
01 Al 172,000 64,000 108,000
OZYFXE A2 2X 50,000, 0002! 50,000
OFR THEM 60,000, 0002 60,000
OS=E TYFME T HEM
8,000,000%! 8,000
OZYS SEIYZNY ZN2MAALY &7
40,000,0002 40,000
OS=E TYFUE FHRLHI| HHUS 2
7l 9,000,0002! 9,000
OS=& TEFXE VTN B
5,000,000% 5,000
NN HEFIE 29 371,791 369,742 2,049
201 LByl 23,055 29,874 £6,819
01 ALRelt] 23,085 29,874 26,819
OFNX HBFUY SYSE 7Y 7,950
oMY EXI B 80, 00024 *507H 4,000
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SN DEHFD
M HdAWNE B3XEH
©Hel: SEFIUHE 2S(=XE S83H)
SH - A G9(E) - HEAY - BAS Aol e
o 2HE 160, 000& 2074 3,200
= 70,0003 104 700
=g XM 75,0003 x20 A 1,500
AU IE 3,000& *500A 1,500
E==g= DNl 3,500& x50 175
=X3 100& *20, 0000H 2,000
Far2eld 27X 6,000& 1004 600
FAtateld 2 3,500& 501 175
F=ateld 32 2,000 *50H 100
SN E= N 20,000& 2004 4,000
OXIEIE DOCEIE AIBE
4,0003 140 &+ 12 672
O/ZINE =2 492,480,000 *30%x*3% 4,433
gIztold 344,736
RIZtRE S 344,736
O=FHIA & & T feze =2
492,480,000 *70% 344,736
X HHSOoIA 4,000
PADNR=D Fd = 4,000
OFHKX =Xt A8 SERIES 23
4,000,000& 4,000
M (FRE SEalH) 1,000, 136
EERIES N = = 129,492
b2 H bl 54,470
01 AtE222|Hl 20,750
OFxtts 20 MA 80&*10,0000H 800
OltEiE 210 & HQIHA XS SHEAEFH H
& 80& *10,0000H 800
O=s8 =-8X ¢ g8 3,510
Ch= OFLHEXIZ A& 200,000 * 1370 & 2,600
=0 M 70,000 * 1300 & 910
o3 115 ¢ 1,450
s=5 170,000& «5H 850
ot 70,000& x54H 350
gl 50,000& *5H 250
otz =4l 12,390
HdEREA 7,000 *5H #2222 x 128 9,240
TRHAL & HeHEH EEHS
7,000& «5H «00 3,150
OH£@ oA HE 722 100,000 «12& 1,200
O£ S&ME K| 100, 000& 64 600
02 =234l 33,720




SN DEHFD
Hu: HADS 25E4
Col: DS N (ZIE SH3H) (ee: &
SA B RI(BH) - HRAY - BAS 04l & o8 e bl m =2
OEFRSEE LUSLU(TRS) 0182
50,0002 * 1074 #1282 6,000
Og£g 2I| |1 600,000 * 10CH <% 540
Otz 22| 27,180
EEE 500,0002 *3CH 1,500
- RS RHAI 60,0002 *3CH 180
SR PRI 50,0008 *3CH =23 300
LN 700,000 *30H * 128 25,200
202 01t 12,000 12,000 0
01 =W oIt 12,000 12,000 0
= HR JISES ol
20,0002 <52 +62 122 7,200
OXQ #iA ¥ 2t DENEZLE ot
20,0008 35 x5 128 3,600
OAYS HSNSA L HALIA OFEEICSHS
o1l 20,0002 * 152 *43] 1,200
203 YR FAY| 2,000 2,000 0
03 AlBEX I DEAY| 2,000 2,000 0
OX - AR 2gs 2,000,0002 2,000
301 YerE a3 61,022 60,932 9
09 Zo2RRATAZ 61,022 60,932 9
O - HXeler EEx 58,022
=23 83,0002 182 * 128 19,008
Al 5,000 182 x222 + 122 23,760
nEH 2,600 * 182 x222! x 122 12,356
- Tl = | 161,000 * 185 2,898
OB4xI2H| 3,000,000 3,000
Solgs3te 29 115,433 %, 110 19,323
101 ©1>2AH| 15,327 13,004 2,233
04 JIZH2ZRSES 15,327 13,004 2,233
ORol G302 29 YLEX 15,327
ol 46,7899 1252402 11,230
=3t 46,7892 * 12 <482 2,246
o1 %} 46,7899 +12»122 562
- ROIZEE PHZ 14,038,002 x4.5% 632
- DERE 223 14,038,000/ *1.3% 183
AHRE 223 14,038,000 %0. 7% 99
ZOAYRE £L2 14,038,000 +2.54% 357
COEIIQYEE L3 357,000 4. 78% 18
201 Lete gl 100, 106 83,016 17,090
01 AL/t 49,562 42,216 7,346




M DEHHY
M HdAWNE B3XEH
thel: nEEd HE(=XNE S435H) (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
O= -&X fetited S8 14,150
- MESKA HE 75,0003 x50 A 3,750
D2l EW 72 130,000 »448x 103 2CH 10,400
ORo &=53tet 74X 35,412
2005 Al == (20H) 23,000,000 *9% 2,070
2006 Al XS (20h) 60,660,000 *9% 5,460
20074l == (10H) 9,272,000& *9% 835
2007 A Xhs (500) 142,279,000 9% 12,806
2007 Al XHZHEFTHE (3CH)
78,150,000 *9% 7,034
- 2007H 4] XHS(30H) 80,071,000 *9% 7,207
02 =234l 50,544 40,800 9,744
O=R02 ¢=o1Het &z 70,0003 123 840
OSel S=3tMet gy sld A=z
30,0003 43 & *12& 1,440
OCCTVE g4t S (E-PON)MEIA 018 Z (143
) 198,000 *143| &« 12& 33,264
OF - =X ALAE NDENN LE2HE
2503 +5,00000 =12 15,000
= - ZXeig BEHE DHE 253,915 240,535 13,380
101 1 bl 48,731 39,301 9,430
04 JIZtMZ22XSE+ 48,731 39,301 9,430
OMEANE2 FREX 48,731
-y 46,7893 x3F x254 35,654
SN 46,7893 x3H x5 7,300
- A Xt 46,7893 x3H x 12 1,685
- RAZEE 2Y3 44,639,000& *4.5% 2,009
-EEY RES 44,639,000 *1.3% 581
CAMHEE RES 44,639,000 *0. 7% 313
- ZOALEHE RFEHS 44,639,000 *2.54% 1,134
LI RAEE BES
1,134,000 *4.78% 55
201 ety 201,584 197,634 3,950
01 AbR22lH| 35,894 31,944 3,950
O=-&dX 28t BeHzg & 30,894
DA H= 75,000 1208 A 9,000
A SKIA HMZ 75,0003 258+ A 1,875
CHE=EE ME 75,0003 »200=F A 15,000
CASEE(GHM) SOl =X FY
3,000& 50021 1,500
SHel Bl Y 396,000 *4H 1,584
-0CREZglH 23 #< 187,000 =54 935
-EgEA) 1Y 1,000, 000& =14 1,000
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PN nSHAD
i HADE 25EH
©el: NESEA M (=XE S83H) (ehel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OXZIIEZN =2 1,000& 5,000 5,000
02 2323l 165,690 165,690 0
(OES Y= 165,690
DIM(SA) 2503 60, 0000H 15,000
SEH(E00) 1,750% *45,0000H 78,750
AREXNM(SEA) 220& *27,0000H 5,940
HEEEZH(EM) 220& *50,00001 *62] 66,000
303 L&z 3,600 3,600 0
01 Z&3 3,600 3,600 0
OHMEAM 2+ L&z 800,000,000 *5%*9% 3,600
=Y =31 &X 127,546 199,506 AT1,960
101 el 24| 107,546 98,546 9,000
04 JIZHMIZ2XEE =+ 107,546 98,546 9,000
O=2Y = - &1 A& 76,346
oI 15,0003 »18H 232 «12& 74,520
SMHEE FE€3 74,520,000 *1.0% 746
- Il =4l 60,0003 18% 1,080
OF=XEMER0 22y 31,200
=== 15,000 x20H » 74 22,200
CHOH 15,000& x20H 30 9,000
401 Al&HI LS04I 20,000 100,000 80,000
01 Al&H| 20,000 100,000 A80,000
O8=k 28 = FXNLXAE |X
10,000, 000& 10,000
OS8 F=XEXA4E &X 10,000,000& 10,000
WEHEAIEES ZH| 120,000 695,000 A575,000
401 Al&HI Y=L OHYI 120,000 695,000 A575,000
01 Al&H| 120,000 695,000 A575,000
Oaxnt2 WsSAES Zl 50,000, 000& 50,000
Oo"dAas2d Fdl 37,000
cHAsSZE 4X 7,000, 000& *5H 2~ 35,000
HASZE B 500,000 *4 4 A 2,000
OHASZE SEA4 &X
2,000,000 * 144 A 28,000
OXNENE2N B 500,000 * 1090 & 5,000
HASX - 24 16,554 0 16,554
201 et 16,224 0 16,224
01 AtS 22/l 8,074 0 8,074
OReESAE==Z 300,000& «12& 3,600
OLtel& 182, 000& *20H 3,640




SN RESHD
dM: dMWE 232
©el: NESEA M (=XE S83H) (ehel: =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
oz2ulls 26,5003 *4H 106
OO0t bt 18,800 104 188
Oet™ 2t 23,200%20H 464
Ok PN 9,400 «8H 76
02 323l 8,150 0 8,150
OAtR 4l 2teldl 500,000& «12& 6,000
(OF~JXiNe] By Y= 150,000& «12& 1,800
O3 MEEIHY 150,000& 150
O&EEHA 200,000 =13 200
405 AHoHESHI 330 0 330
01 ML ESHSHI 330 0 330
O&E 110,000 = 1K 110
ouzEE 2K 55,0003 *4H 220
ol g1l 237,196 203,627 33,569
801 OllHIbl 237,196 203,627 33,569
01 olldldl 237,196 203,627 33,569
ool 237,196,000& 237,196
HE2IZH (RS L) 1,281,600 1,228,683 52,917
QIAAH (XY SE3IH) 1,189,550 1,143,619 45,931
olzi2 gyl 1,189,550 1,143,619 45,931
101 el ] 1,127,210 1,079,479 47,731
01 = 1,127,210 1,079,479 47,731
oJl=s 630,937
=) 2,913,300 x1H« 128 34,960
= 2,328,000 x6H 128 167,616
7= 1,862, 7003 x9FH «12& 201,172
= 1,710,700& x10E «12& 205,284
=1 1,825,4003 x1E+12& 21,905
Ossls &0= 52,579
dZ2d 630,937,000 *1/12%100% 52,579
OAZte 222¢ 75,075
- bg 9,796 x1H «30A| 2+ 12 3,527
= 8,312& x6H »30Al 2t+ 12 17,954
I= 7,457 3 «BH «30A| 2tx 123 21,477
= 6,682 *8H «30Al 2+ 123 19,245
TS (FAHERY)
7,457« 1H*40A| 2t+ 128 3,580
BS(FAUHERY)
6,682& x2H «40A| 2+ 12 6,415
IB(=XEHERY)
5,993« 1H «40A| 2tx 123 2,877
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SN DEHFD
Mo HHLSYPH(DESBTDL)
ol QS HH|(FHE SHalH)
SN HR(SH) - NRAY - BER kol ?.%Esfa
OFYL2R4L(FRHA L H2AW ZcS)
6,000 x5 *202 5,600
OFMupg 92,239
&= 15,360
- X 40,0002 x 142+ 123 6,720
- JIE 20,0002 33 122 7,920
- MOl A DtatS 30,0002 x22 » 128 720
ANEHEHIE X 31,864
-usst 433,880 x6H » 128 31,240
-ssu 51,9903 3 »43 624
225 31,440
- 258014 130,000& «9H «12& 14,040
- 20401 &} 110, 0008 6% » 128 7,920
- 158014 80,0003 «6H «12& 5,760
-10E 01 & 60,000& x1H *12& 720
-5E0(14 50,0003 x5 x 128 3,000
-He32E =2 630,937,000% %4.8%*1/3 10,095
JlgYesy 360
-6.72 30,0002 * 12128 360
JIsgRsE Jttts 30,0003 «1Z~12& 360
NS 2 40,0003 x2H 12 960
QEgesd 30,0003 x5 x 128 1,800
OFSEy=gal] 130,000& «27H « 128 42,120
nEBEH| 40,920
- 5= 140,000& x1H 123 1,680
- 6,75 130,000& 15 «12& 23,400
- 8,92 120,000 «11E 128 15,840
O EF Ot 630,937,000 *1/12%120% 63,094
OIJHA X2 bl 630,937,000 *16. 7% 105,367
Ot &t 630,937,0002! *11/360 19,279
203 YRFEY| 4,200
04 FNSILRFRH| 4,200
ORANZSIHRF4HI 4,200,000 4,200
204 =P 4sAY| 58,140
02 XIS XH| 43,140
(OF=p=1--EN. 43,140
52 250,000& x1H+ 123 3,000
62 15,0002 62 * 128 11,160
= 140,000& »9H « 123 15,120
8,95 105,000 «11E 128 13,860
03 SR SHI 15,000




SN DEHEY
Y HH2YAH(NSS#HF )
Crol: olt2 oyl (FaE SEEH) (EERT
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- (S N M) ° . (= (=3 =5 0:”/|l|,% Lsa
Ol g=tl 50,000& »25Y x12& 15,000
Ul (FXE SE3IH) 92,050 85,064 6,986
|=2&dl 92,050 85,064 6,986
201 et 18,150 19,614 A1,464
01 AFR 22| 13,950 14,814 A 864
ORMEIE+=EHI 8,640,000& *90% 7,776
OJI2gfsd =2l 6,174,000 6,174
02 3224l 4,200 4,800 A 600
OgRE el 4,200
g8z 450,000& +1CH 450
- b= XHA 50,0003 = 1CH 50
SN REZ 50,000 = 1CHx23] 100
- XS 300,000& * 123+ 1CH 3,600
202 O4H| 64,800 64,800 0
01 =LHAbI 64,800 64,800 0
OJl2g2+8 2Bl 200,000& 278 +12& 64,800
405 AHoHESHI 9,100 650 8,450
01 XYL SSFSHI 9,100 650 8,450
O s FRH 7L 1,300, 000 *6CH 7,800
OLBrALE Zet ZglH
1,300, 0002 = 1CH 1,300




